
692653
Materialnr.

Vers.

TILLMANN

©
 A

lle
 R

e
c

h
te

 b
e

i A
L-

KO
, a

u
c

h
 fü

r S
c

h
u

tz
re

c
h

ts
a

n
m

e
ld

u
n

g
e

n
. A

lle
 V

e
rf

ü
g

u
n

g
b

e
fu

g
n

iss
e

, w
ie

 K
o

p
ie

- 
u

n
d

 W
e

ite
rg

a
b

e
re

c
h

te
, b

e
i u

n
s.

Projekt: -

11.04.2013WEH Datum:Bearb. Name:

904030

V
o

rla
g

e
 V

e
rs

. 4
.3

.1
 /

 1
4.

07
.2

00
5

nachnach
Oberfläche

EN ISO 1302

A3ALOIS KOBER GMBH
D-89359 Kötz

DIN ISO 2768 M - - -

1:5

RevS

NameDatumRevS

Ers. d. Ers. f. 

Klass.-Nr.

Gewicht

Maßstab Format

Materialnr.NormHalbzeugNormWerkstoffZul. Abweichung

Änderungstext

BenennungA 19266 17.05.2016

69
26

53
  /

 F
re

ita
g

, 5
. J

un
i 2

02
0 

11
:3

3:
01

Sc
h

u
tz

ve
rm

e
rk

 n
a

c
h

 D
IN

 IS
O

 1
60

16
 b

e
a

c
h

te
n

Status:

VERSCHRAUBPLAN AE-ZUGGABEL

Urspr. 

--

 KG

A

Bl.-Nr. Bl.-Anz.11

Vers.

Änd.-Nr.

PDM-

Anzugsdrehmoment 75 Nm war 87 Nm

max. Anziehdrehmoment M 12 8.8 = 75 Nm ±10%

Pos. Benennung Stück
Rahmenprofil, Maß 
X = 52 mm Ident-

Nr.:

Rahmenprofil, Maß 
X = 60 mm Ident-

Nr.:

1 Abdeckwinkel 1 2072410104 2072410104

2 Distanzprofil 1 2181990002 2181990002

3 Skt.-Schraube M 12x 80  DIN 931 8.8 2 705422

4 Skt.-Schraube M 12x 90  DIN 931 8.8 2 705434 705434

5 Skt.-Schraube M 12x100 DIN 931 8.8 2 705421

6 Skt.-Mutter M 12 DIN 985-10 4 705526 705526

7 Scheibe Ø13 DIN 125 6 705397 705397

8 Steckerhalter 1 2182600004 2182600004

Montageteile:

2
7

1

6

A

A

A-A  (1 : 2)

7

6

7

 X
 

8

7

Obenaufbau

Typ: AL-KO 90 S/3

wahlweise

3/4

4/5

7


